

THE CONVOLUTION OF FINITE NUMBER OF ANALYTIC FUNCTIONS

Poonam Sharma, Ravinder Krishna Raina, and
Janusz Sokół

ABSTRACT. We investigate various results associated with the convolution of finite number of analytic functions involving a certain multiplier operator (defined below). Some useful consequences including a result related to the zeta function are also mentioned.

1. Introduction and Preliminaries

Let $\mathcal{H}(\mathbb{U})$ denote a class of all analytic functions defined in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$. For $a \in \mathbb{C}$, $j \in \mathbb{N} = \{1, 2, \dots\}$, let

$$\mathcal{H}[a, j] = \{f \in \mathcal{H}(\mathbb{U}) : f(z) = a + a_j z^j + a_{j+1} z^{j+1} + \dots\}.$$

We denote a subclass of $\mathcal{H}[0, 1]$ by \mathcal{A} whose members are of the form:

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad z \in \mathbb{U}.$$

Let \mathcal{K} denote a subclass of \mathcal{A} whose members are convex (univalent) in \mathbb{U} and satisfying

$$\operatorname{Re} \left(1 + \frac{z f'(z)}{f''(z)} \right) > 0, \quad z \in \mathbb{U}.$$

For two functions $p, q \in \mathcal{H}(\mathbb{U})$, we say p is *subordinate* to q , or q is *superordinate* to p in \mathbb{U} and write $p(z) \prec q(z)$, $z \in \mathbb{U}$, if there exists a Schwarz function ω analytic in \mathbb{U} with $\omega(0) = 0$ and $|\omega(z)| < 1$, $z \in \mathbb{U}$ such that $p(z) = q(\omega(z))$, $z \in \mathbb{U}$. Furthermore, if the function q is univalent in \mathbb{U} , then we have the following equivalence:

$$p(z) \prec q(z) \Leftrightarrow p(0) = q(0) \quad \text{and} \quad p(\mathbb{U}) \subset q(\mathbb{U}).$$

2010 *Mathematics Subject Classification*: Primary 30C45; Secondary 30C50.

Key words and phrases: analytic functions, convolution, subordination, convex functions.

Communicated by Stevan Pilipović.

A convolution (or Hadamard product) $*$ of two functions $g_1(z)$ and $g_2(z)$ of the form: $g_1(z) = \sum_{k=0}^{\infty} a_k z^k$ and $g_2(z) = \sum_{k=0}^{\infty} b_k z^k$ is defined by

$$g_1(z) * g_2(z) = (g_1 * g_2)(z) = \sum_{k=0}^{\infty} a_k b_k z^k = (g_2 * g_1)(z).$$

DEFINITION 1.1. Let for $m \in \mathbb{Z} = \{\dots, -2, -1, 0, 1, 2, \dots\}$ and for $\mu > -1$, $\lambda > 0$, a linear operator $\mathcal{J}_{\lambda, \mu}^m: \mathcal{A} \rightarrow \mathcal{A}$ be defined by

$$\begin{cases} \mathcal{J}_{\lambda, \mu}^m f(z) = f(z), & m = 0, \\ \mathcal{J}_{\lambda, \mu}^m f(z) = \frac{\mu+1}{\lambda} z^{1-\frac{\mu+1}{\lambda}} \int_0^z t^{\frac{\mu+1}{\lambda}-2} \mathcal{J}_{\lambda, \mu}^{m+1} f(t) dt, & m = -1, -2, \dots, \\ \mathcal{J}_{\lambda, \mu}^m f(z) = \frac{\lambda}{\mu+1} z^{2-\frac{\mu+1}{\lambda}} \frac{d}{dz} (z^{\frac{\mu+1}{\lambda}-1} \mathcal{J}_{\lambda, \mu}^{m-1} f(z)), & m = 1, 2, \dots \end{cases}$$

We note that the operator $\mathcal{J}_{\lambda, \mu}^m$ is a multiplier operator which was recently introduced and studied in [9] (see also [8, 13]).

It is easy to observe that for any $m_1, m_2 \in \mathbb{Z}$ and for $f_1, f_2 \in \mathcal{A}$:

$$(1.2) \quad \mathcal{J}_{\lambda, \mu}^{m_1} \mathcal{J}_{\lambda, \mu}^{m_2} f(z) = \mathcal{J}_{\lambda, \mu}^{m_1+m_2} f(z),$$

$$(1.3) \quad \mathcal{J}_{\lambda, \mu}^{m_1} f_1(z) * \mathcal{J}_{\lambda, \mu}^{m_2} f_2(z) = \mathcal{J}_{\lambda, \mu}^{m_1+m_2} (f_1 * f_2)(z).$$

The series expansion of $\mathcal{J}_{\lambda, \mu}^m f(z)$ for $m \in \mathbb{Z}$, $\mu > -1$, $\lambda > 0$ for the function f of the form (1.1) is given by

$$\mathcal{J}_{\lambda, \mu}^m f(z) = z + \sum_{k=2}^{\infty} \left(1 + \frac{\lambda(k-1)}{\mu+1}\right)^m a_k z^k.$$

The operator $\mathcal{J}_{\lambda, \mu}^m$ generalizes some known operators which are exhibited here by the following relationships:

- (i) $\mathcal{J}_{\lambda, 0}^m = \mathcal{D}_{\lambda}^m$ ($m \in \mathbb{N}_0$, (Al-Oboudi [2])),
- (ii) $\mathcal{J}_{1, 0}^m = \mathcal{D}^m$ ($m \in \mathbb{N}_0$, (Sălăgean [11])),
- (iii) $\mathcal{J}_{\lambda, \mu}^m = \mathcal{I}^m(\lambda, \mu)$ ($m \in \mathbb{N}_0$, (Cătaș [3])),
- (iv) $\mathcal{J}_{1, 1}^{-\alpha} = \mathcal{P}^{\alpha}$ ($\alpha \in \mathbb{Z}^+$, (Jung et al. [6])).

Let $\mathcal{P}[A, B]$ denote a class of functions $p \in \mathcal{H}(\mathbb{U})$ satisfying $p(0) = 1$ and

$$p(z) \prec \frac{1 + Az}{1 + Bz}, \quad -1 \leq B \leq 1, \quad -1 \leq A \leq 1, \quad z \in \mathbb{U},$$

which was introduced and studied by Janowski [5], and we denote the class $\mathcal{P}[1 - 2\alpha, -1]$ by $\mathcal{P}(\alpha)$ ($\alpha \leq 1$).

The object of this paper is to study the convolution of finite number of analytic functions involving the multiplier operator $\mathcal{J}_{\lambda, \mu}^m$ ($m \in \mathbb{Z}$). With this aim, some results on subordination are obtained and by applying the n -th order Euler-type differential subordination when the functions f_i satisfy the subordination condition $(\mathcal{J}_{\lambda, \mu}^m f_i(z))' \prec \frac{1+A_i z}{1+B_i z}$ ($-1 \leq B_i < A_i \leq 1$; $i = 1, 2, \dots, n$), a sufficiency condition for convexity of the convolution of functions $\mathcal{J}_{\lambda, \mu}^m f_i$ ($i = 1, 2, \dots, n$) is derived. Further, on applying the differential subordination, a sharp result on the convolution of functions $(\mathcal{J}_{\lambda, \mu}^{m+1} f_i(z))'$ ($i = 1, 2, \dots, n$) is also obtained.

In order to state and prove our results, we need the following lemmas.

LEMMA 1.1. (Hallenbeck and Ruscheweyh [4] [7, Th.3.1b, p.71]) *Let h be convex in \mathbb{U} with $h(0) = a$, $\gamma \neq 0$ and $\operatorname{Re}(\gamma) \geq 0$. If $p \in \mathcal{H}[a, n]$ and*

$$p(z) + \frac{1}{\gamma} z p'(z) \prec h(z),$$

then $p(z) \prec q(z) \prec h(z)$, where

$$q(z) = \frac{\gamma}{nz^{\gamma/n}} \int_0^z h(t) t^{(\gamma/n)-1} dt \quad (z \in \mathbb{U}).$$

The function q is convex and is the best (a, n) -dominant.

The Gaussian hypergeometric function ${}_2F_1(a, b; c; z)$ is an analytic function in \mathbb{U} and is defined for $a, b, c \in \mathbb{C}$ ($c \neq 0, -1, -2, \dots$) by

$${}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n} \frac{z^n}{n!} \quad (z \in \mathbb{U}),$$

where $(a)_n$ is the Pochhammer symbol representing the product

$$(a)_n = a(a+1) \cdots (a+n-1), \quad n \in \mathbb{N}; \quad (a)_0 = 1.$$

The following results for the function ${}_2F_1(a, b; c; z)$ are well known.

LEMMA 1.2. [1, 16] *Let $a, b, c \in \mathbb{C}$ ($c \neq 0, -1, -2, \dots$), then the Gaussian hypergeometric function ${}_2F_1(a, b; c; z)$ satisfies the following identities:*

- (i) ${}_2F_1(a, b; c; z) = \frac{\Gamma(c)}{\Gamma(b)\Gamma(c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-tz)^{-a} dt$ ($\operatorname{Re}(c) > \operatorname{Re}(b) > 0$).
- (ii) ${}_2F_1(a, b; c; z) = (1-z)^{-a} {}_2F_1(a, c-b; c; \frac{z}{z-1})$.

LEMMA 1.3. [10] *Let $F, G \in \mathcal{H}(\mathbb{U})$ be any convex univalent functions in \mathbb{U} . If $f \prec F$ and $g \prec G$, then $f * g \prec F * G$ in \mathbb{U} .*

LEMMA 1.4. [17] *If $p_i \in \mathcal{P}(\alpha_i)$ ($i = 1, 2; \alpha_i \leq 1$), then $p_1 * p_2 \in \mathcal{P}(\alpha_3)$, where $\alpha_3 = 1 - 2(1 - \alpha_1)(1 - \alpha_2)$.*

LEMMA 1.5. [15] *Let $p \in \mathcal{P}(\alpha)$. Then for given α , $0 \leq \alpha < 1$,*

$$\operatorname{Re}(p(z)) > 2\alpha - 1 + \frac{2(1-\alpha)}{1+|z|} \quad (z \in \mathbb{U}).$$

2. Main Results

Making use of Lemma 1.3, we begin by proving the following result which extends Lemma 1.4 for the convolution of a finite number of n functions.

LEMMA 2.1. *Let for each $i = 1, 2, \dots, n$, $-1 \leq B_i < A_i \leq 1$. If for each $i = 1, 2, \dots, n$; $p_i \in \mathcal{P}[A_i, B_i]$, then for $n \geq 2$,*

$$(2.1) \quad p_1 * p_2 * \cdots * p_n \in \mathcal{P}[A, B],$$

where

$$(2.2) \quad B = (-1)^{n+1} \prod_{i=1}^n B_i, \quad A - B = \prod_{i=1}^n (A_i - B_i).$$

Furthermore,

$$(2.3) \quad p_1 * p_2 * \cdots * p_n \in \mathcal{P}(\alpha),$$

where

$$\alpha = 1 - 2^{n-1} \prod_{i=1}^n \left(1 - \frac{1 - A_i}{1 - B_i}\right) < 1.$$

PROOF. If $p_i \in \mathcal{P}[A_i, B_i]$, then we have

$$(2.4) \quad p_i(z) \prec \frac{1 + A_i z}{1 + B_i z} \quad (i = 1, 2, \dots, n, z \in \mathbb{U}).$$

Since the functions $\frac{1 + A_i z}{1 + B_i z}$ ($-1 \leq B_i < A_i \leq 1$) for each $i = 1, 2, \dots, n$ are convex univalent in \mathbb{U} , therefore by Lemma 1.3, we get

$$p_1 * p_2 * \cdots * p_n \prec \frac{1 + A_1 z}{1 + B_1 z} * \frac{1 + A_2 z}{1 + B_2 z} * \cdots * \frac{1 + A_n z}{1 + B_n z} = \frac{1 + Az}{1 + Bz},$$

where A and B are given by (2.2). This evidently proves result (2.1). Furthermore, from condition (2.4), we have

$$(2.5) \quad \operatorname{Re}(p_i(z)) > \frac{1 - A_i}{1 - B_i} =: \alpha_i,$$

where $\alpha_i < 1$ for each $i = 1, 2, \dots, n$ and hence we have

$$p_i(z) \prec \frac{1 + (1 - 2\alpha_i)z}{1 - z} \quad (i = 1, 2, \dots, n, z \in \mathbb{U}).$$

Thus, on putting $A_i = 1 - 2\alpha_i$ and $B_i = -1$ for each $i = 1, 2, \dots, n$ in (2.2), we obtain

$$p_1 * p_2 * \cdots * p_n \prec \frac{1}{1 - z} \left(1 - \left(1 - 2^n \prod_{i=1}^n (1 - \alpha_i)\right)z\right),$$

which upon assigning the values to α_i from (2.5) yields that

$$\operatorname{Re}(p_1 * p_2 * \cdots * p_n) > 1 - 2^{n-1} \prod_{i=1}^n \left(1 - \frac{1 - A_i}{1 - B_i}\right),$$

where $1 - 2^{n-1} \prod_{i=1}^n \left(1 - \frac{1 - A_i}{1 - B_i}\right) =: \alpha < 1$. This proves the result (2.3). \square

We use now the differential subordination in finding a subordination property of the operator $\mathcal{J}_{\lambda, \mu}^m$ and the result is contained in the following:

THEOREM 2.1. *If for $-1 \leq D < C \leq 1$ we have $(\mathcal{J}_{\lambda, \mu}^{m+1} f(z))' \prec \frac{1+Cz}{1+Dz}$, $z \in \mathbb{U}$, then*

$$(2.6) \quad (\mathcal{J}_{\lambda, \mu}^m f(z))' \prec q(z), \quad z \in \mathbb{U},$$

where

$$q(z) = \frac{{}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{Dz}{1+Dz}) + \frac{\mu+1}{\mu+1+\lambda} Cz {}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 2; \frac{Dz}{1+Dz})}{1 + Dz}$$

and ${}_2F_1$ is the Gaussian hypergeometric function. The result is best possible.

PROOF. Let $p(z) = (\mathcal{J}_{\lambda,\mu}^m f(z))'$; then $p \in \mathcal{H}[1, 1]$ and with the use of the identity

$$\mathcal{J}_{\lambda,\mu}^{m+1} f(z) = \left(1 - \frac{\lambda}{\mu+1}\right) \mathcal{J}_{\lambda,\mu}^m f(z) + \frac{\lambda}{\mu+1} z (\mathcal{J}_{\lambda,\mu}^m f(z))',$$

we have

$$(2.7) \quad (\mathcal{J}_{\lambda,\mu}^{m+1} f(z))' = p(z) + \frac{\lambda}{\mu+1} z p'(z) \prec \frac{1+Cz}{1+Dz},$$

which in view of Lemma 1.1 and a change of variables followed by the use of identities (i) and (ii) of Lemma 1.2 gives

$$(2.8) \quad \begin{aligned} p(z) &\prec q(z) \\ &= \frac{\mu+1}{\lambda} z^{-\frac{\mu+1}{\lambda}} \int_0^z t^{\frac{\mu+1}{\lambda}-1} \frac{1+Ct}{1+Dt} dt, \quad z \in \mathbb{U} \\ &= \frac{\mu+1}{\lambda} \int_0^1 s^{\frac{\mu+1}{\lambda}-1} \frac{1+Cs s z}{1+Ds s z} ds \\ &= \frac{\mu+1}{\lambda} \left[\int_0^1 \frac{s^{\frac{\mu+1}{\lambda}-1}}{1+Ds s z} ds + Cz \int_0^1 \frac{s^{\frac{\mu+1}{\lambda}}}{1+Ds s z} ds \right] \\ &= \frac{{}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{Dz}{1+Dz}) + \frac{\mu+1}{\mu+1+\lambda} Cz {}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 2; \frac{Dz}{1+Dz})}{1+Dz}. \end{aligned}$$

This establishes the result (2.6) with q as the best subordinate of the subordination (2.7) in \mathbb{U} , therefore, the result (2.6) is best possible. This proves Theorem 2.1. \square

Applying the cases if $D \neq 0$ and if $D = 0$ to expression (2.8), we get following result (2.9) with the use of (i) and (ii) of Lemma 1.2. Further, if we write expression (2.8) as $q(z) = \int_0^1 \mathcal{G}(s, z) d\mu(s)$, where $\mathcal{G}(s, z) = \frac{1+Csz}{1+Dsz}$ ($0 \leq s \leq 1$) and $d\mu(s) = \frac{\mu+1}{\lambda} s^{\frac{\mu+1}{\lambda}-1} ds$, where $\int_0^1 d\mu(s) = 1$, we obtain for $|z| \leq r < 1$:

$$\operatorname{Re}(q(z)) \geq \int_0^1 \frac{1-Csr}{1-Dsr} d\mu(s) = q(-r),$$

since for $|z| \leq r < 1$, we infer that $\operatorname{Re}\left(\frac{1+Cz}{1+Dz}\right) \geq \frac{1-Cr}{1-Dr}$. By letting now $r \rightarrow 1-$, we obtain result (2.10) as follows:

COROLLARY 2.1. *If for $-1 \leq D < C \leq 1$ we have $(\mathcal{J}_{\lambda,\mu}^{m+1} f(z))' \prec \frac{1+Cz}{1+Dz}$, $z \in \mathbb{U}$, then*

$$(2.9) \quad (\mathcal{J}_{\lambda,\mu}^m f(z))' \prec q(z) = \begin{cases} \frac{1+Cz}{1+Dz} - \frac{\left(\frac{C}{D}-1\right) [{}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{Dz}{1+Dz}) - 1]}{1+Dz}, & D \neq 0, \\ 1 + \frac{\mu+1}{\mu+1+\lambda} Cz, & D = 0, \end{cases} \quad z \in \mathbb{U}.$$

Furthermore,

$$(2.10) \quad \operatorname{Re}(q(z)) > \rho,$$

where

$$\rho = \begin{cases} \frac{C}{D} + \frac{\left(1-\frac{C}{D}\right) {}_2F_1(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{D}{D-1})}{1-D}, & D \neq 0, \\ 1 - \frac{\mu+1}{\mu+1+\lambda} C, & D = 0. \end{cases}$$

The result is best possible.

Further, on applying a special case when $\lambda = \mu + 1$ in (2.8), we obtain the following result involving the Sălăgean operator \mathcal{D}^m for $m \in \mathbb{N}_0$ with the use of the identity

$${}_2F_1\left(1, 1; 2; \frac{Dz}{1+Dz}\right) = \frac{(1+Dz)\log(1+Dz)}{Dz} \quad (D \neq 0).$$

COROLLARY 2.2. *If for $-1 \leq D < C \leq 1$ we have $(\mathcal{D}^{m+1}f(z))' \prec \frac{1+Cz}{1+Dz}$, $z \in \mathbb{U}$, then*

$$(\mathcal{D}^m f(z))' \prec \begin{cases} \frac{1+Cz}{1+Dz} - \left(\frac{C}{D} - 1\right) \left[\frac{\log(1+Dz)}{Dz} - \frac{1}{1+Dz}\right], & D \neq 0, \\ 1 + \frac{1}{2}Cz, & D = 0, \end{cases} \quad z \in \mathbb{U}.$$

The result is best possible.

THEOREM 2.2. *If for $-1 \leq D < C \leq 1$ we have $(\mathcal{J}_{\lambda,\mu}^{m+1}f(z))' \prec \frac{1+Cz}{1+Dz}$, $z \in \mathbb{U}$, then*

$$(\mathcal{J}_{\lambda,\mu}^m f(z))' \in \mathcal{P}(\gamma_1),$$

where

$$(2.11) \quad \gamma_1 = 1 + \left(1 - \frac{1-C}{1-D}\right) \left[{}_2F_1\left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2}\right) - 2\right] < 1.$$

PROOF. If $(\mathcal{J}_{\lambda,\mu}^{m+1}f(z))' \prec \frac{1+Cz}{1+Dz}$, $z \in \mathbb{U}$, then we have

$$(2.12) \quad \operatorname{Re}\left(\left(\mathcal{J}_{\lambda,\mu}^{m+1}f(z)\right)'\right) > \frac{1-C}{1-D} := \gamma \quad (z \in \mathbb{U}),$$

where $\gamma < 1$. Noting the fact that $z(\mathcal{J}_{\lambda,\mu}^m f(z))' = \mathcal{J}_{\lambda,\mu}^m(zf'(z))$ from Definition 1.1 of the operator $\mathcal{J}_{\lambda,\mu}^m$, we have

$$(2.13) \quad (\mathcal{J}_{\lambda,\mu}^m f(z))' = \frac{\mu+1}{\lambda} z^{-\frac{\mu+1}{\lambda}} \int_0^z t^{\frac{\mu+1}{\lambda}-1} (\mathcal{J}_{\lambda,\mu}^{m+1} f(t))' dt \quad (z \in \mathbb{U}).$$

Hence, on putting $t = uz$, $z \in \mathbb{U}$ and on using Lemma 1.5 with condition (2.12), we obtain that

$$\begin{aligned} \operatorname{Re}\left((\mathcal{J}_{\lambda,\mu}^m f(z))'\right) &= \frac{\mu+1}{\lambda} \int_0^1 u^{\frac{\mu+1}{\lambda}-1} \operatorname{Re}\left((\mathcal{J}_{\lambda,\mu}^{m+1} f(uz))'\right) du, \\ &\geq \frac{\mu+1}{\lambda} \int_0^1 u^{\frac{\mu+1}{\lambda}-1} \left(2\gamma - 1 + \frac{2(1-\gamma)}{1+u|z|}\right) du \\ &> \frac{\mu+1}{\lambda} \int_0^1 u^{\frac{\mu+1}{\lambda}-1} \left(2\gamma - 1 + \frac{2(1-\gamma)}{1+u}\right) du \\ &= 1 - 2(1-\gamma) \left[1 - \frac{\mu+1}{\lambda} \int_0^1 \frac{u^{\frac{\mu+1}{\lambda}-1}}{1+u} du\right] \\ &= 1 + (1-\gamma) \left[{}_2F_1\left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2}\right) - 2\right] = \gamma_1, \end{aligned}$$

where $\gamma_1 < 1$. Using now the value of γ from (2.12) in the last expression on the right-hand side above, we arrive at the desired result of Theorem 2.2. \square

REMARK 2.1. In view of Theorem 2.2, we remark that if

$$(\mathcal{J}_{\lambda,\mu}^{m+1}f(z))' \prec \frac{1+Cz}{1+Dz} \quad (-1 \leq D < C \leq 1; z \in \mathbb{U}),$$

then $\frac{1}{z}\mathcal{J}_{\lambda,\mu}^{-1}(z(\mathcal{J}_{\lambda,\mu}^{m+1}f(z))') \in \mathcal{P}(\gamma_1)$, where γ_1 is given by (2.11).

Our next result proves a subordination property of the convolution of functions $\mathcal{J}_{\lambda,\mu}^m f_i$ ($i = 1, 2, \dots, n$).

THEOREM 2.3. *Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$. If*

$$(2.14) \quad (\mathcal{J}_{\lambda,\mu}^m f_i(z))' \prec \frac{1+A_i z}{1+B_i z} \quad (-1 \leq B_i < A_i \leq 1; i = 1, 2, \dots, n; z \in \mathbb{U}),$$

then

$$(\mathcal{J}_{\lambda,\mu}^m f_1 * \mathcal{J}_{\lambda,\mu}^m f_2 * \dots * \mathcal{J}_{\lambda,\mu}^m f_n)'(z) \prec h(z), \quad z \in \mathbb{U},$$

where

$$(2.15) \quad h(z) = 1 + (A-B) \sum_{k=1}^{\infty} \frac{(-B)^{k-1}}{(k+1)^{n-1}} z^k, \quad z \in \mathbb{U}$$

is convex in \mathbb{U} , and A, B are given by (2.2).

PROOF. Observe that if $n = 1$, the result is trivial. Let $n \geq 2$ and for $i = 1, 2, \dots, n$, let $p_i(z) = \mathcal{J}_{\lambda,\mu}^m f_i(z)/z$, which is analytic in \mathbb{U} with $p_i(0) = 1$. Now using (2.14), we have

$$p_i(z) + zp_i'(z) = (\mathcal{J}_{\lambda,\mu}^m f_i(z))' \prec \frac{1+A_i z}{1+B_i z} \quad (-1 \leq B_i < A_i \leq 1; i = 1, 2, \dots, n; z \in \mathbb{U}).$$

Therefore in view of Lemma 1.1 (for the case if $n = 1$, $\gamma = 1$), we get

$$(2.16) \quad \frac{\mathcal{J}_{\lambda,\mu}^m f_i(z)}{z} \prec q_i(z) = \frac{1}{z} \int_0^z \frac{1+A_i t}{1+B_i t} dt, \quad z \in \mathbb{U},$$

where q_i is convex in \mathbb{U} and is the best dominant. Now on applying Lemma 1.3 to subordination (2.16) for $i = 1, 2, \dots, n-1$ and to subordination (2.14) for $i = n$, we get

$$(2.17) \quad \frac{\mathcal{J}_{\lambda,\mu}^m f_1(z)}{z} * \dots * \frac{\mathcal{J}_{\lambda,\mu}^m f_{n-1}(z)}{z} * (\mathcal{J}_{\lambda,\mu}^m f_n(z))' \\ \prec \frac{1}{z} \int_0^z \frac{1+A_1 t}{1+B_1 t} dt * \dots * \frac{1}{z} \int_0^z \frac{1+A_{n-1} t}{1+B_{n-1} t} dt * \frac{1+A_n z}{1+B_n z} =: h(z),$$

where $h(z)$ is convex in \mathbb{U} being the convolution of functions which are convex in \mathbb{U} and is given by (2.15). The left-hand side of the above subordination (2.17) is

$$(\mathcal{J}_{\lambda,\mu}^m f_1(z) * \mathcal{J}_{\lambda,\mu}^m f_2(z) * \dots * \mathcal{J}_{\lambda,\mu}^m f_n(z))'$$

This proves Theorem 2.3. \square

We note that the function $h(z)$ given by (2.15) is convex with real coefficients in \mathbb{U} and at $z \in \partial\mathbb{U}$, the series in (2.15) is absolutely convergent if $n > 2$, hence we get the following result directly from Theorem 2.3:

COROLLARY 2.3. *Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ and*

$$(\mathcal{J}_{\lambda, \mu}^m f_i(z))' \prec \frac{1 + A_i z}{1 + B_i z} \quad (-1 \leq B_i < A_i \leq 1; z \in \mathbb{U}).$$

Then, for $n > 2$ (in case $B_i \neq 0, i = 1, 2, \dots, n$):

$$h(-1) \leq \operatorname{Re} \{ (\mathcal{J}_{\lambda, \mu}^m f_1(z) * \mathcal{J}_{\lambda, \mu}^m f_2(z) * \dots * \mathcal{J}_{\lambda, \mu}^m f_n(z))' \} \leq h(1),$$

where $h(z)$ is given by (2.15).

In particular, if $B_i = -1$ for each $i = 1, 2, \dots, n$, we find then the following result from Theorem 2.3 in terms of the zeta function [18, Ex. 5, p. 201]:

COROLLARY 2.4. *Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ and*

$$(\mathcal{J}_{\lambda, \mu}^m f_i(z))' \prec \frac{1 + A_i z}{1 - z} \quad (-1 < A_i \leq 1; z \in \mathbb{U}).$$

Then for $n > 2$,

$$\begin{aligned} \operatorname{Re} \{ (\mathcal{J}_{\lambda, \mu}^m f_1(z) * \mathcal{J}_{\lambda, \mu}^m f_2(z) * \dots * \mathcal{J}_{\lambda, \mu}^m f_n(z))' \} \\ \geq 1 + [(1 - 2^{2-n})\zeta(n-1) - 1] \prod_{i=1}^n (A_i + 1), \\ \operatorname{Re} \{ (\mathcal{J}_{\lambda, \mu}^m f_1(z) * \mathcal{J}_{\lambda, \mu}^m f_2(z) * \dots * \mathcal{J}_{\lambda, \mu}^m f_n(z))' \} \\ \leq 1 + [\zeta(n-1) - 1] \prod_{i=1}^n (A_i + 1), \quad z \in \mathbb{U}, \end{aligned}$$

where ζ is the well known zeta function.

REMARK 2.2. The result obtained on putting $A_i = 1 - 2\alpha_i$ for $\alpha_i < 1$ and $B_i = -1$ for each $i = 1, 2, \dots, n$ in Theorem 2.3 coincides with the one proved recently in [12] which includes the result of Sokół [14] (for $n = 3$, and $\zeta(2) = \frac{\pi^2}{6}$).

To prove our next result, we first prove the following lemmas:

LEMMA 2.2. *Let $k, n \in \mathbb{N}$ and $\lambda_1, \lambda_2, \dots, \lambda_{n-2}$ be positive integers depending only upon n ($n > 2$) not on k . Then*

$$(2.18) \quad k^n = k(k-1) \cdots (k-n+1) + \lambda_{n-2} k(k-1) \cdots (k-n+2) + \dots \\ + \lambda_2 k(k-1)(k-2) + \lambda_1 k(k-1) + k.$$

PROOF. We prove the identity (2.18) for any $k \in \mathbb{N}$ by using induction on $n \in \mathbb{N}$. Since for $n = 2$, we have $k^2 = k(k-1) + k$, then for $n = 3$, we get

$$(2.19) \quad \begin{aligned} k^3 &= k^2 k = [k(k-1) + k]k \\ &= \{k(k-1)(k-2) + 2k(k-1)\} + \{k(k-1) + k\} \\ &= k(k-1)(k-2) + 3k(k-1) + k. \end{aligned}$$

This verifies identity (2.18) for $n = 3$ with $\lambda_1 = 3$. Let (2.18) be true for $n = r-1$ (> 2), that is if for some positive integers $\lambda_1, \lambda_2, \dots, \lambda_{r-3}$, we have

$$k^{r-1} = k(k-1) \cdots (k-r+2) + \lambda_{r-3}k(k-1) \cdots (k-r+3) + \cdots \\ + \lambda_2k(k-1)(k-2) + \lambda_1k(k-1) + k.$$

On multiplying by k (and proceeding similarly as in (2.19)), we get

$$k^r = \{k(k-1) \cdots (k-r+2)(k-r+1) + (r-1)k(k-1) \cdots (k-r+2)\} \\ + \{\lambda_{r-3}k(k-1) \cdots (k-r+3)(k-r+2) \\ + (r-2)\lambda_{r-3}k(k-1) \cdots (k-r+3)\} + \cdots \\ + \{\lambda_2k(k-1)(k-2)(k-3) + 3\lambda_2k(k-1)(k-2)\} \\ + \{\lambda_1k(k-1)(k-2) + 2\lambda_1k(k-1)\} + \{k(k-1) + k\} \\ = k(k-1) \cdots (k-r+1) + (r-1 + \lambda_{r-3})k(k-1) \cdots (k-r+2) + \cdots \\ + (3\lambda_2 + \lambda_1)k(k-1)(k-2) + (2\lambda_1 + 1)k(k-1) + k.$$

This verifies identity (2.18) for $n = r$ for some positive integers $(2\lambda_1 + 1)$, $(3\lambda_2 + \lambda_1)$, \dots , $(r-1 + \lambda_{r-3})$ and the desired result is thus proved. \square

REMARK 2.3. We mention that the identity (2.18) depends only on n ($n > 2$) not on k , that is for the same n , it can be written (on replacing k by $k+1$) in the form:

$$(k+1)^n = (k+1)k(k-1) \cdots (k-n+2) \\ + \lambda_{n-2}(k+1)k(k-1) \cdots (k-n+3) + \cdots \\ + \lambda_2(k+1)k(k-1) + \lambda_1(k+1)k + (k+1) \\ = (k+1)[k(k-1) \cdots (k-n+2) \\ + \lambda_{n-2}k(k-1) \cdots (k-n+3) + \cdots + \lambda_2k(k-1) + \lambda_1k + 1].$$

It follows therefore that

$$(2.20) \quad (k+1)^{n-1} = k(k-1) \cdots (k-n+2) + \lambda_{n-2}k(k-1) \cdots (k-n+3) + \cdots \\ + \lambda_2k(k-1) + \lambda_1k + 1.$$

LEMMA 2.3. *If for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ and $\lambda_1, \lambda_2, \dots, \lambda_{n-2}$, be positive integers depending upon n ($n > 2$). Then for*

$$(2.21) \quad \phi_m(z) := \mathcal{J}_{\lambda, \mu}^m f_1(z) * \mathcal{J}_{\lambda, \mu}^m f_2(z) * \cdots * \mathcal{J}_{\lambda, \mu}^m f_n(z),$$

$$(2.22) \quad \phi'_m(z) + \lambda_1 z \phi''_m(z) + \lambda_2 z^2 z \phi'''_m(z) + \cdots + \lambda_{n-2} z^{n-2} \phi_m^{(n-1)}(z) + z^{n-1} \phi_m^{(n)}(z) \\ = (\mathcal{J}_{\lambda, \mu}^m f_1(z))' * (\mathcal{J}_{\lambda, \mu}^m f_2(z))' * \cdots * (\mathcal{J}_{\lambda, \mu}^m f_n(z))'.$$

PROOF. We prove result (2.22) by taking induction on n . If $n = 1$, we directly get $\phi'_m(z) = (\mathcal{J}_{\lambda, \mu}^m f_1(z))'$. Next if $n = 2$, then from (2.21), we get

$$z \phi'_m(z) = z(\mathcal{J}_{\lambda, \mu}^m f_1(z))' * \mathcal{J}_{\lambda, \mu}^m f_2(z) \text{ and } (z \phi'_m(z))' = (\mathcal{J}_{\lambda, \mu}^m f_1(z))' * (\mathcal{J}_{\lambda, \mu}^m f_2(z))',$$

and result (2.22) is verified as

$$\phi'_m(z) + z \phi''_m(z) = (\mathcal{J}_{\lambda, \mu}^m f_1(z))' * (\mathcal{J}_{\lambda, \mu}^m f_2(z))'.$$

If $n = 3$, then from (2.21), we have

$$z(z\phi'_m(z))' = z(\phi'_m(z) + z\phi''_m(z)) = z(\mathcal{J}_{\lambda,\mu}^m f_1(z))' * z(\mathcal{J}_{\lambda,\mu}^m f_2(z))' * \mathcal{J}_{\lambda,\mu}^m f_3(z),$$

and hence,

$$(2.23) \quad (z(z\phi'_m(z))')' = (z(\phi'_m(z) + z\phi''_m(z)))' \\ = (\mathcal{J}_{\lambda,\mu}^m f_1(z))' * (\mathcal{J}_{\lambda,\mu}^m f_2(z))' * (\mathcal{J}_{\lambda,\mu}^m f_3(z))',$$

where the left-hand side of (2.23) is given by

$$(z(\phi'_m(z) + z\phi''_m(z)))' = (z\phi'_m(z))' + (z^2\phi''_m(z))' \\ = [\phi'_m(z) + z\phi''_m(z)] + [2z\phi''_m(z) + z^2\phi'''_m(z)] \\ = \phi'_m(z) + 3z\phi''_m(z) + z^2\phi'''_m(z).$$

This proves result (2.22) with $\lambda_1 = 3$. Let result (2.22) be true for $n = r - 1 (> 2)$, that is if we have

$$\phi'_m(z) + \lambda_1 z\phi''_m(z) + \lambda_2 z^2\phi'''_m(z) + \cdots + \lambda_{r-3} z^{r-3}\phi_m^{(r-2)}(z) + z^{r-2}\phi_m^{(r-1)}(z) \\ = (\mathcal{J}_{\lambda,\mu}^m f_1(z))' * (\mathcal{J}_{\lambda,\mu}^m f_2(z))' * \cdots * (\mathcal{J}_{\lambda,\mu}^m f_{r-1}(z))',$$

where $\lambda_1, \lambda_2, \dots, \lambda_{r-3}$ depending upon $r - 1 (> 2)$. Then, if

$$\phi_m(z) := \mathcal{J}_{\lambda,\mu}^m f_1(z) * \mathcal{J}_{\lambda,\mu}^m f_2(z) * \cdots * \mathcal{J}_{\lambda,\mu}^m f_r(z),$$

we get

$$(z(\phi'_m(z) + \lambda_1 z\phi''_m(z) + \lambda_2 z^2\phi'''_m(z) + \cdots + \lambda_{r-3} z^{r-3}\phi_m^{(r-2)}(z) + z^{r-2}\phi_m^{(r-1)}(z)))' \\ = (\mathcal{J}_{\lambda,\mu}^m f_1(z))' * (\mathcal{J}_{\lambda,\mu}^m f_2(z))' * \cdots * (\mathcal{J}_{\lambda,\mu}^m f_r(z))'$$

where the left-hand side is given by

$$(z(\phi'_m(z) + \lambda_1 z\phi''_m(z) + \lambda_2 z^2\phi'''_m(z) + \cdots + \lambda_{r-3} z^{r-3}\phi_m^{(r-2)}(z) + z^{r-2}\phi_m^{(r-1)}(z)))' \\ = (z\phi'_m(z))' + (\lambda_1 z^2\phi''_m(z))' + (\lambda_2 z^3\phi'''_m(z))' + \cdots \\ + (\lambda_{r-3} z^{r-2}\phi_m^{(r-2)}(z))' + (z^{r-1}\phi_m^{(r-1)}(z))' \\ = \phi'_m(z) + z\phi''_m(z) + 2\lambda_1 z\phi''_m(z) + \lambda_1 z^2\phi'''_m(z) + 3\lambda_2 z^2\phi'''_m(z) + \cdots \\ + (r-2)\lambda_{r-3} z^{r-3}\phi_m^{(r-2)}(z) + \lambda_{r-3} z^{r-2}\phi_m^{(r-1)}(z) \\ + (r-1)z^{r-2}\phi_m^{(r-1)}(z) + z^{r-1}\phi_m^{(r)}(z),$$

which on simplifying proves the result (2.22) for $n = r$ that

$$\phi'_m(z) + (1 + 2\lambda_1)z\phi''_m(z) + (\lambda_1 + 3\lambda_2)z^2\phi'''_m(z) + \cdots \\ + (\lambda_{r-3} + r - 1)z^{r-2}\phi_m^{(r-1)}(z) + z^{r-1}\phi_m^{(r)}(z) \\ = (\mathcal{J}_{\lambda,\mu}^m f_1(z))' * (\mathcal{J}_{\lambda,\mu}^m f_2(z))' * \cdots * (\mathcal{J}_{\lambda,\mu}^m f_r(z))'$$

for some positive integers $(1 + 2\lambda_1), (\lambda_1 + 3\lambda_2), \dots, (\lambda_{r-3} + r - 1)$. This proves Lemma 2.3. \square

THEOREM 2.4. Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ such that $(\mathcal{J}_{\lambda, \mu}^n f_i(z))' \prec \frac{1+A_i z}{1+B_i z}$ ($-1 \leq B_i < A_i \leq 1$) and $\phi_m(z)$ be given by (2.21). Then $\phi_m \in \mathcal{K}$ if for $n > 2$,

$$(2.24) \quad (A - B) \sum_{k=1}^{\infty} \frac{B^{k-1}}{(k+1)^{n-1}} \leq \frac{3}{4},$$

where A and B are given in terms of A_i and B_i in (2.2).

PROOF. Let $r(z) = \phi'_m(z)$; then by Lemma 2.3 and (2.1), we get for some positive integers $\lambda_1, \lambda_2, \dots, \lambda_{n-2}$ depending upon n ($n > 2$):

$$(2.25) \quad r(z) + \lambda_1 z r'(z) + \lambda_2 z^2 r''(z) + \dots + \lambda_{n-2} z^{n-2} r^{(n-2)}(z) + z^{n-1} r^{(n-1)}(z) \\ =: \psi(r(z), z r'(z), \dots, z^{n-1} r^{(n-1)}(z)) \prec \frac{1 + Az}{1 + Bz}, \quad z \in \mathbb{U},$$

where A and B are given by (2.2). Again, we denote

$$\psi(r(z), z r'(z), \dots, z^{n-1} r^{(n-1)}(z)) =: \psi_m(z),$$

and from Theorem 2.3, we have a possible solution of the above n -th order Euler-type differential subordination (2.25) as follows:

$$(2.26) \quad \phi'_m(z) = r(z) \prec h(z), \quad z \in \mathbb{U},$$

where $h(z)$ is of the form (2.15) and its r -th ($r \in \mathbb{N}$) derivative is given by

$$h^{(r)}(z) = (A - B) \sum_{k=1}^{\infty} \frac{k(k-1) \cdots (k-r+1)}{(k+1)^{n-1}} (-B)^{k-1} z^{k-r}.$$

Observe that the positive integers $\lambda_1, \lambda_2, \dots, \lambda_{n-2}$, appearing in (2.22) are the same as in (2.18), and for these parameters $\lambda_1, \lambda_2, \dots, \lambda_{n-2}$ and use of the result (2.20) mentioned in Remark 2.3, we get

$$\psi(h(z), zh'(z), \dots, z^{n-1} h^{(n-1)}(z)) \\ = h(z) + \lambda_1 z h'(z) + \lambda_2 z^2 h''(z) + \dots + \lambda_{n-2} z^{n-2} h^{(n-2)}(z) + z^{n-1} h^{(n-1)}(z) \\ = 1 + (A - B) \sum_{k=1}^{\infty} (-B)^{k-1} z^k = \frac{1 + Az}{1 + Bz}, \quad z \in \mathbb{U}.$$

This verifies the admissibility condition for $h(z)$ in (2.26) to be a solution of the subordination (2.25).

Now the function $\phi_m \in \mathcal{K}$ if

$$1 + \frac{z \phi_m''(z)}{\phi_m'(z)} \prec \frac{1+z}{1-z}, \quad z \in \mathbb{U},$$

or if

$$(2.27) \quad 1 + \frac{z r'(z)}{r(z)} \prec \frac{1+z}{1-z}, \quad z \in \mathbb{U}.$$

By [7, Theorem 2.6b, p.60], condition (2.27) implies that $r(z) \prec \frac{1}{(1-z)^2}$, $z \in \mathbb{U}$. Thus in view of (2.26), the function $\phi_m \in \mathcal{K}$ if $h(z) \prec \frac{1}{(1-z)^2}$, $z \in \mathbb{U}$, that is if $\inf_{|z|<1} \operatorname{Re}\{h(z)\} = h(-1) \geq \frac{1}{4}$, which in view of (2.15) gives

$$h(-1) = 1 - (A - B) \sum_{k=1}^{\infty} \frac{B^{k-1}}{(k+1)^{n-1}} \geq \frac{1}{4},$$

which is the given condition (2.24) if $n > 2$. \square

Setting $B_i = -1$ for each $i = 1, 2, \dots, n$ in Theorem 2.4, we get the following result in terms of zeta function [18, Ex.5, p.201] $\zeta(n)$, $n > 1$, and $\zeta(2) = \frac{\pi^2}{6}$:

COROLLARY 2.5. *Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ and $-1 < A_i \leq 1$. Also, suppose that*

$$(\mathcal{J}_{\lambda, \mu}^m f_i(z))' \prec \frac{1 + A_i z}{1 - z}$$

for each $i = 1, 2, \dots, n$, and $\phi_m(z)$ be given by (2.21). Then $\phi_m \in \mathcal{K}$ if for $n > 2$,

$$\prod_{i=1}^n (A_i + 1) \leq \frac{3}{4[1 - (1 - 2^{2-n})\zeta(n-1)]}.$$

In the case, $n = 3$, $(\mathcal{J}_{\lambda, \mu}^m f_1 * \mathcal{J}_{\lambda, \mu}^m f_2 * \mathcal{J}_{\lambda, \mu}^m f_3)(z) \in \mathcal{K}$ if

$$(A_1 + 1)(A_2 + 1)(A_3 + 1) \leq \frac{9}{12 - \pi^2}.$$

We now prove our next result.

THEOREM 2.5. *Let for each $i = 1, 2, \dots, n$, $f_i \in \mathcal{A}$ and for $-1 \leq D_i < C_i \leq 1$,*

$$(2.28) \quad (\mathcal{J}_{\lambda, \mu}^{m+1} f_i(z))' \prec \frac{1 + C_i z}{1 + D_i z}, z \in \mathbb{U}.$$

Let $\psi_m(z) = (\mathcal{J}_{\lambda, \mu}^m f_1(z))' * (\mathcal{J}_{\lambda, \mu}^m f_2(z))' * \dots * (\mathcal{J}_{\lambda, \mu}^m f_n(z))'$, then

$$(2.29) \quad \operatorname{Re} \left(\left(1 - \frac{\lambda}{\mu + 1}\right) \psi_m(z) + \frac{\lambda}{\mu + 1} (z\psi_m(z))' \right) > 1 - 2^{n-1} \prod_{i=1}^n \left(1 - \frac{1 - C_i}{1 - D_i}\right) \left[2 - {}_2F_1\left(1, 1; \frac{\mu + 1}{\lambda} + 1; \frac{1}{2}\right)\right]^{n-1}.$$

The result is sharp for certain functions f_i if $D_i = -1$ for each $i = 1, 2, \dots, n$.

PROOF. For each $f_i \in \mathcal{A}$ and for $-1 \leq D_i < C_i \leq 1$, $i = 1, 2, \dots, n$, the condition (2.28) implies that

$$(2.30) \quad \operatorname{Re} \left((\mathcal{J}_{\lambda, \mu}^{m+1} f_i(z))' \right) > \frac{1 - C_i}{1 - D_i} =: \beta_i \quad (i = 1, 2, \dots, n, z \in \mathbb{U}),$$

where $\beta_i < 1$ ($i = 1, 2, \dots, n$), and hence by Lemma 2.1 it implies that

$$(2.31) \quad \psi_{m+1} := (\mathcal{J}_{\lambda, \mu}^{m+1} f_1(z))' * (\mathcal{J}_{\lambda, \mu}^{m+1} f_2(z))' * \dots * (\mathcal{J}_{\lambda, \mu}^{m+1} f_n(z))' \in \mathcal{P}(\delta_0),$$

where

$$(2.32) \quad \delta_0 = 1 - 2^{n-1} \prod_{i=1}^n (1 - \beta_i) < 1.$$

We further denote for $i = 1, 2, \dots$,

$$(2.33) \quad \delta_i = 1 - (1 - \delta_0) \left[2 - {}_2F_1 \left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2} \right) \right]^i,$$

where δ_0 is given by (2.32). Similar to (2.13), we may put

$$\begin{aligned} \psi_m(z) &= \frac{\mu+1}{\lambda} z^{-\frac{\mu+1}{\lambda}} \int_0^z t^{\frac{\mu+1}{\lambda}-1} (\mathcal{J}_{\lambda,\mu}^{m+1} f_1(t))' dt * \dots \\ &* \frac{\mu+1}{\lambda} z^{-\frac{\mu+1}{\lambda}} \int_0^z t^{\frac{\mu+1}{\lambda}-1} (\mathcal{J}_{\lambda,\mu}^{m+1} f_n(t))' dt \end{aligned}$$

and thus, in view of convolution property (1.3), we write

$$(2.34) \quad \psi_m(z) = \frac{\mathcal{J}_{\lambda,\mu}^{-n}(z(\psi_{m+1}(z)))}{z}.$$

Further, we have

$$\left(1 - \frac{\lambda}{\mu+1}\right) \psi_m(z) + \frac{\lambda}{\mu+1} (z\psi_m(z))' = \frac{\mathcal{J}_{\lambda,\mu}(z\psi_m(z))}{z} := s(z).$$

Now from (2.34), it follows that

$$s(z) = \frac{\mathcal{J}_{\lambda,\mu}^{1-n}(z(\psi_{m+1}(z)))}{z}.$$

On applying Theorem 2.2 (as in Remark 2.1) that if from (2.31), the function $\psi_{m+1} \in \mathcal{P}(\delta_0)$, then we infer that

$$\frac{\mathcal{J}_{\lambda,\mu}^{-1}(z\psi_{m+1}(z))}{z} \in \mathcal{P}(\delta_1),$$

where $\delta_1 = 1 - (1 - \delta_0) \left[2 - {}_2F_1 \left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2} \right) \right] < 1$. By (1.2), we note that

$$\frac{\mathcal{J}_{\lambda,\mu}^{-1}(\mathcal{J}_{\lambda,\mu}^{-1}(z\psi_{m+1}(z)))}{z} = \frac{\mathcal{J}_{\lambda,\mu}^{-2}(z\psi_{m+1}(z))}{z}.$$

On repeatedly applying the same Theorem 2.3 (as in Remark 2.1) for any $n \geq 2$, we find that $s \in \mathcal{P}(\delta_{n-1})$, $\delta_{n-1} < 1$. Thus on putting the value of δ_0 from (2.32) in (2.33) for $i = n - 1$ and using (2.30), we obtain the result (2.29). The sharpness of the result follows for the functions $f_i \in \mathcal{A}$ such that for ψ_{m+1} given by (2.31) and for $n \geq 2$,

$$\frac{\mathcal{J}_{\lambda,\mu}^{2-n}(z\psi_{m+1}(z))}{z} = \frac{1 + (1 - 2\delta_{n-2})z}{1 - z} \quad (\delta_{n-2} < 1; z \in \mathbb{U}).$$

Since for such functions on using Lemma 1.2 and letting $z \rightarrow -1$, we get

$$s(z) = \frac{\mu+1}{\lambda} \int_0^1 u^{\frac{\mu+1}{\lambda}-1} \left[\frac{1 + (1 - 2\delta_{n-2})uz}{1 - uz} \right] du$$

$$\begin{aligned}
&= 1 + (1 - \delta_{n-2}) \left[2 \left(\frac{\mu+1}{\lambda} \right) \int_0^1 \frac{u^{\frac{\mu+1}{\lambda}-1}}{1+u} du - 2 \right] \\
&= 1 - (1 - \delta_{n-2}) \left[2 - {}_2F_1 \left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2} \right) \right],
\end{aligned}$$

which on putting the value of δ_{n-2} from (2.33) for $i = n - 2$ and the value of δ_0 from (2.32), and by (2.30) when $D_i = -1$ for each $i = 1, 2, \dots, n$ gives, as $z \rightarrow 1-$,

$$s(z) = 1 - \frac{1}{2} \left[2 - {}_2F_1 \left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2} \right) \right]^{n-1} \prod_{i=1}^n (1 + C_i). \quad \square$$

By setting $n = 2$ in Theorem 2.5, we obtain a simple case as follows:

COROLLARY 2.6. *Let for $i = 1, 2$, $f_i \in \mathcal{A}$ and for $-1 \leq D_i < C_i \leq 1$,*

$$\left(\mathcal{J}_{\lambda, \mu}^{m+1} f_i(z) \right)' \prec \frac{1 + C_i z}{1 + D_i z}, z \in \mathbb{U},$$

and also, let $F(z) = \mathcal{J}_{\lambda, \mu}^m (f_1 * f_2)(z)$. Then

$$\operatorname{Re} \left(\mathcal{J}_{\lambda, \mu}^{m+1} (zF'(z)) \right)' > 1 - \frac{2(C_1 - D_1)(C_2 - D_2)}{(1 - D_1)(1 - D_2)} \left[2 - {}_2F_1 \left(1, 1; \frac{\mu+1}{\lambda} + 1; \frac{1}{2} \right) \right].$$

The result is sharp for functions f_i if $D_i = -1$ for each $i = 1, 2$.

References

1. M. Abramowitz, I. A. Stegun (Eds), *Handbook of Mathematical Functions and Formulas, Graphs and Mathematical Tables*, Dover, New York, 1971.
2. F. M. Al-Oboudi, *On univalent functions defined by a generalized Sălăgean operator*, Int. J. Math. Math. Sci. **2004**(27) (2004), 1429–1436.
3. A. Cătaș, *Class of analytic functions associated with new multiplier transformations and hypergeometric function*, Taiwanese J. Math. **14**(2) (2010), 403–412.
4. D. J. Hallenbeck, St. Ruscheweyh, *Subordination by convex functions*, Proc. Am. Math. Soc. **52** (1975), 191–195.
5. Z. Janowski, *Some extremal problems for certain families of analytic functions*, Ann. Pol. Math. **28** (1973), 297–326.
6. I. B. Jung, Y. C. Kim, H. M. Srivastava, *The Hardy space of analytic functions associated with certain one-parameter families of integral operators*, J. Math. Anal. Appl. **176** (1993), 138–147.
7. S. S. Miller, P. T. Mocanu, *Differential Subordinations: Theory and Applications*, Series on Monographs and Textbooks in Pure and Applied Mathematics, 225, Marcel Dekker, New York, 2000.
8. J. K. Prajapat, *Subordination and superordination preserving properties for generalized multiplier transformation operator*, Math. Comput. Modelling **55** (2012), 1456–1465.
9. R. K. Raina, P. Sharma, *Subordination properties of univalent functions involving a new class of operators*, Electron. J. Math. Anal. Appl. **2**(1) (2014), 37–52.
10. St. Ruscheweyh J. Stankiewicz, *Subordination under convex univalent function*, Bull. Pol. Acad. Sci., Math. **33** (1985), 499–502.
11. G. S. Sălăgean, *Subclasses of univalent functions*, in *Complex Analysis*, Fifth Romanian–Finnish Seminar, Part I (Bucharest, 1981), Lect. Notes Math. 1013, Springer-Verlag, Berlin and New York, 1983.
12. P. Sharma, R. K. Maurya, *Certain subordination results on the convolution of analytic functions*, J. Math. Appl. **37** (2014), 107–114.

13. P. Sharma, J. K. Prajapat, R. K. Raina, *Certain subordination results involving a generalized multiplier transformation operator*, J. Classical Anal. **2**(1) (2013), 85–106.
14. J. Sokół, *The convexity of Hadamard product of three functions*, J. Math. Appl. **29** (2007), 121–125.
15. H. M. Srivastava, S. Owa (Eds), *Current Topics in Analytic Function Theory*, World Scientific, Singapore, New Jersey, London and Hongkong, 1992, pp. 266–273.
16. H. M. Srivastava, P. W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press/Wiley, Chichester/New York, 1985.
17. J. Stankiewicz, Z. Stankiewicz, *Some applications of the Hadamard convolution in the theory of functions*, Ann. Univ. Mariae Curie-Skłodowska, Sect. A **40** (1986), 251–265.
18. E. M. Stein, R. Shakarchi, *Complex Analysis*, Princeton University Press, Princeton, New Jersey, 2003.

Department of Mathematics and Astronomy
University of Lucknow
Lucknow, India
sharma_poonam@lkouniv.ac.in

(Received 03 08 2016)

(Revised 15 08 2018)

M. P. University of Agriculture and Technology
Udaipur, Rajasthan, India
rkraina_7@hotmail.com

Faculty of Mathematics and Natural Sciences
University of Rzeszów, Poland
jsokol@prz.edu.pl